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D ata Description

ENTRY

Mumber of servers

Service rate [per server per hour)

Customer arrival rate [per hour]

Queue capacity [(maximum waiting space)

Customer population

Busy server cost per hour

Idle server cost per hour

Customer waiting cost per hour

Customer being served cost per hour

Cost of customer being balked

Unit queue capacity cost
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Performance Meazure Result

B From Formula
Customer arniwval rate [lambda) per hour = 2 0000
Service rate per server [mu] per hour = 4 0000
Dwverall spstem effective amwval rate per hour = 30000
Overall system effective service rate per hour = 3 0000
Owerall zpztem uhilization = Fh_DOon =
Average number of customers in the spstem [L] = 30000
Average number of customers in the queue [Lqg] = 2.2500
Average number of customers in the gqueue for a busy system [Lb) = 3.0000
Awverage ime customer spends in the spztem W] = 1.0000 howrs
Average ime customer spends in the queue [Wql = 07500 hours
Average ime cuszstomer spends in the gqueue for a busy system Wh] = 1.0000 hours
The probability that all servers are idle [Po) = 25 0000 =
The prohability an arfiving customer waitz [Pw] or spstem iz busy [Ph] = Fh_DOon =
Average number of customers being balked per hour = o
Total cost of busy server per hour = 30
Total cost of idle server per hour = 30
Total cost of customer waiting per hour = +0
Total cost of customer being served per hour = 30
Total cost of customer being balked per hour = $0
Total gqueue space cost per hour = 30
Total zpstem cost per hour = 30
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20-2013 Ferformance Measurne Hesult
1 - From Formula
zZ Cuszstomer arrival rate (lambdal per hour — 30000
3 Service rate per server [mu] per howr = 4 _ oo
A Dwerall system effective amrival rate per hour = . 0000
5 Dverall spstem effechive service rabte per howur = 2_D0Nnon
| 51 Owerall xpxtem utilization = I7.5000 =
7 Average number of customers in the system (L) — 0.8727
a8 Average number of customers n the guewe [Lgl = n1227
a9 Avwerage number of customers in the guewe for a busy system [Lb] = 0_&0D00n
anm Avoerage hhme customer spends in the spysteom W) = N_Z2303 howurs
11 Avwerage hme customer spends an the gueas Wag) = 0409 howrx
12 Average time customer spends in the gueue for a busy zyvstem Wbl — 0. 2000 hours
13 The probability that all scrvers arc dle [Po) - 45 4545 X
14 The probability an arriving customer waits [Pw] or system is buzsy [Pb] = 20 .4%54% E
15 Average number of customers being balked per howur — (1]
16 Total coxt of busy xerver per howur = 0
17 Total cost of idle server per hour = 30
8 Total cost of customer waiting per howur - =0
19 Total cost of customer being served per hour = 0
20 Total cost of customer being balked per hour — 0
21 Total gueus space coxt per howr = 0
22 Total spstem cost per hour = $0
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D4-20-2019 Performance Measure Result
1 From Formula
= Customers armrival rate [lambdal per howr = F.0000
3 Service rate per server [mu)] per howr = 4. 0000
4+ Dverall system effective ammival rate per howr — 3. 0000
= Dverall svstem sffective service rate per o — 30000
[ = Dwerall spstem utilization — 25 DinoD o
7 Average number of customers in the spstem (L] = 0. 7647
B Avwerage number of customers In the guewes [Lgl = o orAar
= Avwerage number of customers In the guewes for a busy Syztem [(Lb] = 0. 3333
10 Avaerage hime customer spends in the systaem W) — N_ 549 Fvowurs
11 Avaerage hime customer spends in the guewse gl — D_ D049 Fvowrs
12 Average lime customer spends in the gueue for a busy spstem W h] = . 1111 howrs
12 The probability that all servers are idle [Po]l = AF 0588 =
14 The probability an amiving customer waits [Py] or system = busy [Pb) = 4. 47118 =
1= Average number of curtomers being balked per howur = o
16 Total cost of busy sarver paer o — =0
17 Total cost of wle server per howur — =0
18 Total cost of customer waiting per howur - 0
19 Taotal cost of customer being served per hoor = 0
20 Total cozt of cuzstomer being balked per hour = | <
=1 Total guesuese zpace cozt per howur = | <
22 Tokal system cost per howr — 0
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